Answer Scheme UPS2 QS025

Model 6
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V(h,k)=V (@3, -1
h=3,k=-1
F(h+p, k)=F(5, -1
h+p=5
3+p=5

p=2
(y—k)* =4p(x-h)
(y-(-1)* =4(2)(x-3)
(y +1)* =8(x=3)

4, ﬂ—9x2y\/x3 -1

dx u=x>-1
J‘% dy =j 9x?/x® —1 dx du =3x* dx

Iny:I9JU (% du}

1
:3Iu2du
3
2
= u? +C
2
3

Iny=2(x*-12+C

y= Aez(xg’l)%
y@ =1 = x=1, y=1

L= Aot
A=1
y:ez(x3—1)g
5. X2 +y? +2gx +2fy +¢c =0
At(L-1): (@2 + (-1)? +2g(0) +2f (<) +c=0
29-2f+c=-2 (@)
At(3,5) : (3)% +(5)% +29(3) + 2f (5) +c =0
6g +10f +c=-34 2

JK KECEMERLANGAN AKADEMIK UNIT MATEMATIK



Answer Scheme UPS2 QS025 Model 6

y =— % X+ g passes through the center, so

2 7
—f =—Z(- -
3( g)+3
2 7
f=—=g-—— 3
3973 @)
2)-(1): 4g+12f =-32
g+3f =-8 4)

Substituting (3) into (4) :
g +3(—gg —ZJ =-8

3 3
-g-7=-8
g=1
2 7
(3): f = 3(1) 3
f=-3
1): 2(D)-2(-3)+c=-2
c=-10

x> +y® +2(Dx +2(-3)y +(-10) =0
X*+y® +2x -6y —10=0

2x

2X 2X
6. I8x2ezx dx = (8x2 € _'[ € (16x dx) u=8x*> = du=16x dx
2 2 o

_ 4x%e® _J‘ 8xe?* dx dv=e*dx = v=

2X 2X
— 4x2%e% —{(8x{e j—'[ (e j(8 dx)} u=8x = du=8dx
2 2 2x

X e
:4x2e2X—[4xe2X —J‘4e2X de dv=e”dx = v=

= 4x°e* —4xe™ +4[e:j+c
=2e”(2x* —=2x+1)+C
Volume Zﬂj: (5xe*)? dx
=z [ 25x%® dx

=§7le 8x2e? dx
8 0
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= %ﬂ[Zezx(sz —~ 2x+1)]2
:%Tﬂ[ez(2—2+1)—e°(0—0+1)]

:2577[(e2 —1) unit?®
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